Sample Paper (2023-24)

CLASS: 10th (Secondary) Code: A

Roll No.

faser
SCIENCE
(Physics, Chemistry and Life Science)
[Hindi and English Medium]
ACADEMIC / OPEN

[Time allowed: 3 hours] [Maximum Marks: 60]

FUIT FIARIT R fF 57 qe7 97 # Flad 955 a&gr # 18 &
IR 5TH 30 F97 &/

Please make sure that the printed pages in this question
paper are 18 in number and it contains 30 questions.

o 07 GF & &Ts N I3V IV &5 FAFaY FI BI7 GART IR-GRedHT
& Ggel go3 G¥ fer@r Sire ATl

The Code No. on the right side of the question paper should

be written by the candidate on the front page of the answer-
book.
o [FH goT FT 36X eI YF FNel & Ugel IHHI FHIF [o1GAT F1TT

Before beginning to answer a question, its Serial Number

must be written.

o YA 3TX GRETF H GIell Goadl /9ot T B3/
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Don’t leave blank page/pages in your answer-book.
IR-GRETHT & HIARFT  #ls 379 fle gl & e e
HTIFAFAN 61 feld T 0@ 3¢ &l 7 FIc/

Except answer-book, no extra sheet will be given. Write fo
the point and do not strike the written answer.

GO 3T el FIX ToA GT G IHTIT [/

Candidates must write their Roll Number on the question
paper.

HGIT Jo7] H IR 4 & qd g GlARIT #¥ o 1& o797 qof
g & 8, geT ¥ IWIT 5 A # FiF 1 grar FHHr 87T T
oTTIT/

Before answering the questions, ensure that you have been
supplied the correct and complete question paper, no claim

in this regard, will be entertained after examination.

FTHIT [Rder

(i) Tt geT faart &
(i) a&glaava el & &el [aFeyq ford/
(/i) eAF ToT @ 3 3HD HiH T T[T &

General Instructions.:

(i) All questions are compulsory.
(ir) Write the correct option in objective type questions.

(i) Marks of each question are indicated against it.
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s
SECTION - A
(e famer)

(Physics)

o A =T 3gaR eprer Gof fondll Slerg & gl A dar B
T AUTad 8l A gl C dar D & dgX [Aead &l
gigg & AR F=afaf@a & @ a7 g gaar 87 1

¢~

a) PIT B AAAPR Told
b) 3de o

c) 3add o

d) Brsa

Beams of light are incident through the holes A and B
and emerge out of the box through holes C and D
respectively as shown in the figure. Which of the

following could be inside the box?
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a) Rectangular glass slab
b) Convex lens

c) Concave lens

d) Prism

fAFATai@a # @ Siaar dicedr A HEAd SHdar §7?

T =T T
faegd urT x gHg

a)

b) TRaT IR”THRT X 3TTAer

T IR T X GHT
faega urr

c)
d) fRarIRT Y X 39T X IHT

Which of the following represents voltage?

a) Work done
current X time

b) work done X current

) work done X time

current

d) work done X current X time
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faegd a9l &1 oguye TUT JTIHROT & HROT glel arell
gIfeT & GRET T T FgeaquT FireT I

is the most important safety device used

for protecting the circuits due to short circuiting or

overloading of the circuits.
3TTERTRT T 9T Alell FAT fe@rs &ar g7 1
Why clear sky appears blue?

fafoaa 99 H o a4 §: ATFFUT (A) 3R SROT (R),

R & oA fF AT IuGFd faFeT FT A A U 3R
IS 1
AR (A): & TS QW 3@ #1 fAehe fdg 25 4. @
3O g &I &l

HROT (R): 3adel ofF arel IRF T 39AT T 4Y Tive
eIy T Sk fhaT ST ThdT ¢

a) Ad R 3l I § 9T R, A &I &g <ar@n gl

b) A T R Gl T § dUT R, A &I TEr Ir@aT =1af ¢l

c) A I § WJ R 38T &

d) A 38T § R R a7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.
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Assertion (A): The near point of a hypermetropic eye is

more than 25 cm away.

Cause (R): Hypermetropic eye is corrected using

spectacles containing concave lens.

a) Both A and R are true, and R is the correct

explanation of A.

b) Both A and R are true and R is not the correct

explanation of A.
c) A is true but R is false

d) A is false but R is true.

fetaf@a & gy difaw:
a) Y1l T fagrqor 1
b) gufshe 1

Define the following:
a) Dispersion of light
b) Spectrum

a) Rl fegd & & A F=t 3aea A @ & el

3l di9e 379dd 3d°d gl ST g7 1

Why does the cord of an electric heater not glow while

the heating element does?
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b) fegd e FiFAAT S oF XX FAT faegI-5&aT &
Teleh T T3 & T W A g3t & F4 o0 S
87 1

Why are conductors of electric heating devices such as

bread-toaster and electric irons made of an alloy rather

than a pure metal?
3ar
Or

Jg 32sU & 3T 60 9fay & did gfaiigel [ R
AT HEr foh TdeteT &1 9red gfa’rer (i) 9 T (i) 40
gam| 2

Show how you would connect three resistors, each of
resistance 6(), so that the combination has a resistance

of (i) 9Q and (ii) 4Q.

37T T AT SA8U| 9T Fa1 82 Rl aree & giaer
foreT FROT W AR aar g7 3

State Ohm’s law. What is resistance? On which factors

does the resistance of a conductor depend?

fordll @3 oo & TRT 3N YT &7 [T WiET| grashrg
&7 @3 & N A G g0 3

Draw the magnetic field lines around a bar magnet. Write

down the properties of magnetic field lines.
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10.

3ar

Or
a) IR 41 gl 8?7  fhdl fdegd emm@aer o«
aReTferer & iR dahg &7 FHar gem? 2

What is a solenoid? What is the magnetic field inside a

long solenoid carrying current.
b) Ef&IoT gEd-319ss s S| 1
State right hand thumb rule.

a) YRRl T UIddel AT §? Wadd & e for@r 3

What is reflection of light? Write down the laws of

reflection.

b) Frfafed Fufaat & gged qdor & yR sdBv g
39 3T AT HRUT ddIST: 2

(i) Fdr SR #1397 A9 (¥ @se)
(i) oY argeT &1 9rRd guuT

Name the type of mirror used in the following situations

and state reason for your answer:
(i) Headlight of a car
(i) Rear view mirror of a vehicle
3Yar

Or
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a) 3ddl o T Hddd ol H 3R TUse hifad| 3
Differentiate between convex lens and concave lens.
b) o& g7 faf@u] 1
Write the lens formula.
c) frdr o/F &7 1 3E3MteX AT o IRATNT HItav| 1
Define 1 dioptre power of a lens.
s T

SECTION - B

(T faemrer)

(Chemistry)

1. Aefaf@d & @ @l @ A9 @eg gerdt d haerfadr
Akl g7 1

Which of the following gases prevents rancidity in foods?
a) Oxygen
b) Hydrogen

c) Nitrogen
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12.

13.

14.

15,

d) Chlorine

NaHCO; &1 yafold 1 &1 87 1
a) orcas

b) fatater <ot

c) Sfher e

d) emaeT &rar

What is common name of NaHCQO;?

a) Gypsum

b) Bleaching Powder

c) Baking Soda

d) Washing Soda

Teh 37T ¢ S faegel & garosh gl 1
is a non-metal which is conductor of
electricity.
TISTA 91q 7 FAHA F FAT @1 ST g2 1

Why is sodium metal kept in kerosine oil?

farifaf@a gt & ar &y g AR (A) 3R FROT (R),

T & A e T 39 Qregd T T FA U 3R

gIfaT| 1
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IfFRYT  (A):  MnO, + HCl - MnCl, + 2H,0 + Cl, Th
3UTITY 3TTRTHAT FT 3807 B

$ROT (R): 30 3fAfhar & HCIl, ClL, & 39a@d TAT Mno,,
MnCl, & 3IRT & W& ¢

a) Ad R 3l I § 9T R, A &I &g <JrEn gl

b) A d R Gl T § dUT R, A &I Tgr SI@aT =Tel ¢l

c) A §T § Wd R 38T ¢l

d) A 38T § W R &7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.

Assertion (A): MnO, + HCl - MnCl, + 2H,0 + Cl, is an

example of redox reaction.

Cause (R): In this reaction HCI is reduced to Cl, and

MnO, is oxidized to MnCl,.

a) Both A and R are true, and R is the -correct

explanation of A.

b) Both A and R are true and R is not the correct

explanation of A.
c) A is true but R is false
d) A is false but R is true.

16. 3cTAIHI0T JTRTHAT FAT 2 TS 3ETgI0T & 2
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What is neutralisation reaction? Give an example.

17. 313 o S8 3GIUT &l Ueh 1] H W IAig HNO; & faeraer

18.

19.

20.

H 3Telel 9T FIT T 87 2

What happens when eggshell is placed in a beaker

containing concentrated solution of HNO3?

RI& & S H 9T S ard 3Fd &I A7 T T@ T JT
for@r R & S @ g el & ¥ TehRT I T Teh
AT et o aar| 3

Write the name and chemical formula of acid found in
ant sting. Also give the common method to get relief

from the discomfort caused by ant sting.

A JOT & YR 9T T3 g Imeargsi & AL AR
TISe AT 3

Differentiate between metals and non-metals on the basis

of chemical properties.
3gar
Or
fAETdsT Ud #olel H 3eTEI0r |igd {5 FHraiT|

a) GISZISTallenT T &7 8T il equier fod|
2

What is hydrogenation? Write its industrial application.
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b) &&=l & 3o UM & Fose HRfAC G §9r dear A
et JfAFT FHT HATOT BT B 3

Explain the properties of carbon which lead to formation

of large number of carbon compounds.

312rar
Or
a) Yecad & TAU 3T fohdel TXTATcAS FATGIAr 1 fF07
A Thd 872 2

How many structural isomers can you draw for Pentane?
b) feT TP Hr TAAT FATT 3
) TS IFT
i) SYAYeCeT
iii) gFdetel

Draw structures of following compounds.

i) Ethanoic acid
ii) Bromopentane

iii) Hexanal
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gs- T

SECTION - C
(e fa=mme)
(Biology)
21. farfaf@a & @ S @1 399 Aoy g2 1
a) Fra
b) &
C) el
d) 3TH & FIS AT
Which of the following is non-biodegradable?
a) Glass
b) Grass
c) Paper

d) None of these

22. AEAAET & @ FEH qTecsasd d Siofel g Tehcll 87 1
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Which of the following can reproduce by regeneration?
a) Hydra

b) Planaria

c) Both of the above

d) None of these

23. 3MSieT & 37 & el AR ¥ oA §
1

Ozone molecules are formed from three atoms of

24. AT & Fd H qHT TR &1 [FIH7T Hiaar gl Har g2
1

Which hormone regulates the sugar level in the human

blood?

25. TFATa&d 99 & gF U g JAHRUA (A) 3R FROT (R),

9 & A e AT Iugad fdshed FT T¥A U 3R
SIS 1

3fHFUT (A): T LaTEeACT H aY T Bl &, o TG WprAd
e gl &l

HROT (R): @MAeTell 3UTRY garT FAFYT B

a) Ad R Gl g § 9T R, A &I &g <arEn gl

b) AT R Gl T § 4T R, A &I TEr Ir@aT =1af ¢l
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26.

27.

28.

c) A §cI § WJ R 38T &

d) A 38T § W R a7 ¢l

The question below consists of two statements: Assertion
(A) and Reason (R), answer the question by selecting

the appropriate option given below.

Assertion (A): When there is no air in the trachea, it is

not compressed.
Cause (R): The trachea is supported by cartilage.

a) Both A and R are true, and R is the -correct

explanation of A.

b) Both A and R are true and R is not the correct

explanation of A.

c) A is true but R is false

d) A is false but R is true.

IIATETSH 3R AZell, TAh & & H T 2
Write two functions of each, cerebellum and medulla.
AT FiFAAT A & FAT HROT & Fohd 87 2

What could be the reasons for adopting contraceptive

methods?

Teh o0 T IS FIC AAiThd [T =] 3
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29.

30.

Draw a well labelled diagram of longitudinal section of

flower.

HSSl & YN caRT i gl Ierr o o&T0T SATdT 3rar
YA g 87 3

How do Mendel's experiments show that traits may be

dominant or recessive?
AYgar
Or

A # s T folor fFuRor F& giar 872 3

How is the sex of the child determined in human beings?
a) TauNT 3R fAvEaT givor & d A9 3R @l 3

Write three differences between autotrophic and

heterotrophic nutrition.

b) FsTT # HieFeliolel 3R HIA-STS3MFASS T GRAE Hd
g 87 2

How is oxygen and carbon-dioxide transported in human

beings?
AYar
Or
a) AT 3cHoled dF Hl AHIhd —IT TATT| 3

Draw a well labelled diagram of human excretory system.
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b) erAfATT TUr RN &7 X ff@ 2
Write the difference between arteries and veins.
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